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>>> X
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False class finally is return
None continue for lambda try
True def from nonlocal while
and del global not with
as elif if or yield
assert else import pass

break except in raise
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INTEGER

10
2000

FLOAT

STRING

“hello”
“world”
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XIS (str) ‘Hello World!', *123”
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>>> type(1234) #int &
<class 'int'>

‘blue’ > <class ‘str’>
23 > <class ‘int’>
3.14 > <class ‘float’>
2<3 - <class ‘bool’>
(2, 3, 4) 2 <class ‘tuple’>
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>>>x =1
>>> type(x)
<class 'int’>

>>> x = 100**30
>>> x

1000000000000000000000000000000000000000000000000000000000000
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007 0111
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011 1001
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012 1010
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014 1100
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M7 1119
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print(a, b)

3.14 123.0

a=3.14
b=7.12

print(a+b, a-b, a*b, a/b)

10.26 -3.98 22.3568 0.4410112359550562
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>>> greeting="Merry Christmast”
>>> greeting
'Merry Christmas!

>>> greeting="Happy New Year!'
>>> greeting
'Happy New Year!'
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>>> message="& I} '2t3'0l2t 0 EH=LICH"
>>> message
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>>>"'Harry ' + 'Porter’

'Harry Porter’ \

~

>>> first_ name="& "

>>> [ast_ name="="

>>> name = last_name+first_ name
>>> name

= D
=24




oA AR
971 <.> 4

>>> "Student"+26

Traceback (most recent call last):
File "<pyshell#16>", line 1, in <module>
"Student"+26

TypeError: can only concatenate str (not "int") to str

>>> "Student"+str(26)
'Student26'

>>> price = int("123")
>>> height = float("3.14");
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>>>line = "=""* 50

>>> print(line)

>>> message = "Congratulations! *

>>> print(message*3)
Congratulations! Congratulations! Congratulations!
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>>> message = "Merry Christmas!"

>>> |en(message) #=
16

>>> message.upper() #=
'MERRY CHRISTMAS!'

>>> message.find("Ch") #=
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>>> g = "Python"
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product = "coffee"
count=3
price = 10000

print(f"&F & {product} {count}JH 2| Jt & 2 {count*price}& & L|C}.")
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>>> radius = 10
>>> radius = 3.14
>>> radius = "unknown"
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>>>x =10
>>> jd(x)
2061230735888
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>>>x =3
>>>y =X # A== y0l B2 x2

>>> id(x)
140721955779472

>>> id(y) #
140721955779472
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>>>y =10 # A= y0ll M22 210l 2 EEEH =20 EetdlCh
>>> id(y)
140721955779696
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>>> name = input("0| S L 2A5IAI2: ")
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>>> print(name, "Ml, Ot SHAI 27?")
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X = input("=
y = input("s
sum=x+y
print("& 2 ",
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=otAI2: 300
=otAI2: 400

X =int(input("3 HIH A 4+E LEGIAI"))# EXNE S 2 HESHT.
y =int(input("s HIH A 4+2 LEGAI"))# SNE S 2 HESHT.
sum=x+y

print("& 2 ", sum)
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x = int(input(" Bl 5 LEoHAIL2: ")) #2NEE =2 BHEsH
y =int(input("Ss Bl H 5 LEotAI2: ")) #2NEE =2 BHEsH
result=x+y

print(x, "+", y, "=", result)

result=x-y

print(x, "-", y, "=", result)

result=x*y

print(x, "*", y, "=", result)

result =x/y

print(x, "/", y, "=", result)
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ftemp = 100 tMl 25 1002 B =01l X & stC.

ctemp = (ftemp-32.0)*5.0/9.0 #AMN2E>EMNS2E

print("& M 2 <", ctemp) #EMN=2EE StHA =6t
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TAX_RATE =0.35 —
Pl = 3.141592
MAX_SIZE = 100

INCOME = 1000
TAX_RATE = 0.3

tax = INCOME * TAX
net_income = INCOME
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# AL X2 (HEES Ha=0 MEStCt.
stadium = input("Z J| & & O CI 2 LIDt?")
winner = input("O| 21 & 2 O C| & LI Dt?")
loser = input("& & = O{C| & LIDH?")

vip = input("S =&+ =LY LII?")
score = input("A 20 = ZHE LIDE?")

print(f"2 = {stadium}tl M Ot=2 & J|Jt
print(f"{winner}2t {loser}= x| &t S
print(f"{vip}0| W&t = otASLICL")

print(f"Z = {winner}Jt {loser}E {score}= 0| A SLICt.")
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# Ol Z2 ]2 AIESXNZ2RH FI|IE 20t AtZIE S el
#
import turtle
t = turtle. Turtle()
t.shape("turtle")
#ASAZ22H AL IS 20tA sizect= B =0 M & atCt.
# A2 )= 0122 input()0| Btetole 2AE S int()E SotH =2 HE&otA L
size = int(input("AtZA =2l FJ|= S0IZ ENKR? ™)
# A S S &2 22 eIt Ol H = sizeE AtESotAL

t.forward(size)
t.right(90)
t.forward(size)
t.right(90)
t.forward(size)
t.right(90)
t.forward(size)

turtle.done()

# size Bt= H=0|2 8 & AIZILH.
#N=S01E LEXLZ 0% 2| &AIZ2ICH
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while True:
t.left(10)

t.forward(200)
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